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o ANKA ANSAEEZED
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= 1,400
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= 350
o MMXA DAHAAS)]
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= 895
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SHEQZ AU A NS AS 468,334 300,000 168,334
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o= 74,722
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401 A& HI L E0HHI 468,334 0 468,334
= 298,889
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= 94,723
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20,000,000& * 1A 20,000
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6,480,000& 6,480
= 4,322
& 1,079
= 1,079
03 AlE 20| 2,974 0 2,974
o BAA AL HEL AIE20HHI(0.72%)
2,974,000 2,974
= 1,981
=} 495
= 498
0l &t o 2k 2t e 704,019 597,376 106,643
= 1,649
J| 105,643
& 26,557
= 570,170
gAAE 330,846 337,240 N6,394
101 2121 H| 29,806 28,090 1,716
04 JI2tHIZ22NEE S 29,806 28,090 1,716
o FoAX 22 g Aso
40,320 « 2% x 80¥ 6,452
o S8 W AsQE
40,320 « 10Y » 50 20,160
o 4l BEE2= 26,612,000 * 12% 3,194
201 et 9| 7,619 12,729 A5,110
01 AP 2t 2] H| 2,619 2,829 A210
< 2gkH| > 0
o F AL BAAS 7,000 * 3¥H « 60 1,260
o YAHASA 2A 7,000 * 29¥ * 76 1,064
< OI=Hl > 0
o goAs Heg= 59,0008 * 59 295
02 2% H| 5,000 9,900 A4,900
o S0 gAASAH SAH|
20,000 = 250CH 5,000
202 o4 H| 1,400 4,400 A 3,000
01 2L I 1,400 4,400 A 3,000
o YAAY F=& 20,000& = 5% x 14¢ 1,400
206 M = Hl 265,511 265,511 0
01 X2 H| 265,511 265,511 0
o YAHAASAE 35,000& * 904 = 403 126,000
o HAHA BY9AE SF0U
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NEEEEEN 1,760 1,760 0
o gejols YHQAT 7Y
2,000& = 800K * 11& 1,760
405 XHoHFE SHI 24,750 24,750 0
01 JHAtY = ZF SHI 24,750 24,750 0
o YA E FHH(EUE) 550,000& = 4504 24,750
SESANY 136,905 136,905 0
201 et A H| 1,000 1,000 0]
01 At 22l ] 1,000 1,000 0
< gBt=ZHl > 0
o HEESAY WIE M 50& * 20,0000H 1,000
307 QI2t01 ™ 135,905 135,905 0
01 922 PR ZH| 135,905 135,905 0
o fEES & 24,250
- SALSSs2 9,000& * 2,500™ 22,500
- B2t 5,000& * 350H 1,750
o HEEE 22 104,700
B5MI0I & RS S22 9,000& * 8,000 72,000
- 4254 3,000& * 1,2009¥ 3,600
- &EIEA 5,000& * 300%™ 1,500
- REEZEELE 7,500& * 2,000 15,000
-5 12,000& = 350 4,200
- ElC| 12,000& * 4009™ 4,800
- DTaP 5,000& = 720Y¥ 3,600
o Cl|AEDF Z A 2,500& * 300" 750
o HEEE ARE 6,205
-24=2Zs 3,500& * 7500H 2,625
- M= 77,000& * 1504 1,155
- BHAIHATD) 2T I|EX 55,000& * 150H 825
- F=AHD| 200 * 5,000H 1,000
- HClZ2e = 10,000& * 602 600
=2t S E S A 128,878 23,566 105,312
Jl 64,439
[ 23,057
= 41,382
307 QI2t01 & 128,878 23,566 105,312
Dl 64,439
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01 2L Sl 128,878 23,566 105,312
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[ia 1,290
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J| 4,645
= 4,645
o R0t 2= YIS (LEIH)
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